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ill 5— 1 1 $ tfj □ if ( c V- u - X )

gN—<Ej
C 5 1 C 3 5 C 3 7 C 4 4 C 5 1

9 0° 1 1 0° 130° 1 50° 1 8 0°

H, ( ppm) < 50 < 50 < 50 < 50 < 50

02 ( 56 ) 18.7 18.6 1 8.7 1 8.3 18.7

# CO ( ^ ) <0.0 1 <0.0 1 <0.0 1 <0.0 1 <0.0 1
if

co2 ( ppm) 5 50 450 6 6 0 630 130 0

h2o ( $ ) 1 1. 9 14.8 1 9.1 2 4.1 28.1

Cl (ppm) < 5 < 5 < 5 < 5 < 5 -

c2 ( ppm) 4 < 3 < 3 3 < 3

C3 ( ppm) 4 3 3 3 3

m. C4 (ppm) 1 5 1 0 1 3 7 9

it C5 (ppm) 9 1 1 1 3 1 1 7

7k
C6 (ppm) 1 3 1 7 1 1 9 7

C7 (ppm) 5 2 6 6 6
*

Cg (ppm) 3 6 1 2 20 2

7? c9 (ppm) 5 4 1 3 2 1 1 2

C 10 ( ppm) 39 1 8 2 8 79 42

( ppm) 20 0 240 2 6 0 4 40 270

h ;uxy ( ppm) 200 220 26 0 460 280

( ppm) 120 8 1 1 80 320 1 90

T2/^6 —7( ppm) 2.0 4.4 — — 5.3 ' 1—-5 t

^fbTk# ( ppm) 3 6 4 . — — 7 6 0.0 2 —0.2

* y f-vu y /y
ijy'Z's ( ppm) 0.1 4 0.0 6 — — 0.4 7 0.0 0 2—0.0 1

* §?Hfc y^( ppm) <0.0 1 <0.0 1 — — <0.0 1 0.0 1 —0.2

ZZ^fky-fviX ppm) 0.0 2 0.0 3 — — 0.0 7 0.00 9—0.1

x
h v y

~T i 'S ( ppm) — — sevig 0.0 0 5—0.0 7

T“fe h 
ft K (ppm) 1 7 1 5 — — 1 6 0.0 5 -—0.5

^ v v ( ppm) 9.3 13 — — 1 5 0.4 —2

\ y’ ^ h 0.1 6 5 0.2 8 6 0.2 4 4 0.1 4 6 0.1 2 4



#5-12 $ Jisth □ # * ft (D'y'J-x)

X — D 5 1 D3 5 D 4 2 D 4 9 D 6 1
V 7 11 —

9 0" 110° 1 30° 1 50° 1 80°

h2 (ppm) < 50 < 50 < 50' < 50 <50

M 02 ( ^ ) 18.7 1 8.6 18.9 18.4 1 8.0
#

CO ( # ) <0.0 1 <0.0 1 <0.0 1 <0.0 1 <0.0 1
is
X co2 (ppm) 4 60 6 50 1150 1 670 1 960

h2o ( * ) 1 2.8 1 4.2 1 2.4 1 0.5 1 1. 7

Cl (ppm) < 5 < 5 < 5 < 5 < 5

C2 (ppm) < 3 < 3 < 3 < 3 < 3

C3 (ppm) < 3 < 3 < 3 < 3 < 3

# C4 (ppm) < 3 < 3 < 3 < 3 < 3

fk Cs (ppm) < 1 < 1 < 1 < 1 < 1

C6 (ppm) < 1 1 < 1 < 1 < 1
7k

C7 (ppm) < 1 2 < 1 < 1 2

S
Cg (ppm) 2 < 1 < 1 < 1 9

a c9 (ppm) 2 1 < 1 < 1 1

X C io (ppm) 36 20 1 6 36 29

-< y-bfyv (ppm) 1 5 1 3 1 1 9 9

h yu- x y (ppm) 3 6 26 1 3 1 3 1 3

dr -y 1/ X (ppm) 29 27 1 4 1 0 1 0 •

7y^-T(ppm) 8.2 7.9 — %8 — 1 — 5

ij'T'z y (ppm) VSrtti — ^F# ih — 0.0 2 —0.2

#fk7k# (ppm) 0.1 5 0.1 2 — 0.1 7 — 0.002—0.01

* #fky ^^(ppm) ^F#L±J — 0.0 5 — 0.0 1 — 0.2

Z2#fk ( p pm) Hi '—1 — 0.009 — 0.1

h 'J 7 ^y^ 
T< y (ppm) 5E«?Ftg — — 0.0 0 5—0.0 7

T-fe h 7^ 
ft: K (ppm) 2.4 6.2 — /eje^FIE — 0.0 5 —0.5

x =f- y y (ppm) 5.9 6.9 — %8 — 0.4 — 2

% f x h 0.0 2 0 0.0 2 5 0.0 3 4 0.1 7 0 0.1 3 6
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5-13 Kv- ( c-yy-x)

01 02 044 05 1
iSUxg^: 9 0° 1 1 0° 1 50° 1 80°

P H 6.9 9 7. 1 0 6.6 5 6.4 0 5.8 ~ 8.6

ss 160 2 20 98 84 20 oc BleFPiS 150)

GOD i?/t) 4 60 82 470 114 0 1 6 0 c BPbFP^ 120)

BOD (S'//.) 280 1 00 600 7 1 0 1 6 0 ( 120)

95 3 1 0 630 75 6 5

A. it. ;S , 0.9 9 0.9 8 1.0 0 1.0 1 —

7xy - ji'M C%<6) 2 110 7180 296 0 4 7 0 0 .5

F <0.1 <0.1 <0.1 <0.1 1 5

T* ON 0^) 0.0 28 0.0 1 7 0.0 1 0 0.0 1 2 1

Cd 0.0 0 4 0.0 0 3 0.0 1 0 0.0 08 0.1 0

Pb («g/6) 0.1 1 0.0 6 0.0 7 0.0 6 1

Gu (*%%&) 0.5 9 0.6 7 0.4 3 0.2 5 3

Z r 9.6 3 2.4 0 5.8 0 5.7 0 5

Mn 0.4 2 0.3 7 0.1 3 0.1 2 1 0

Fe ("%%&) 21 8.0 4.7 3 1 1 0

A s (»%/&) 0.0 1 0.0 1 0.0 4 0.0 4 0.5

T-Cr 0.0 2 0.0 5 0.0 4 <0.0 2 2

T-Hg <0.0 0 1 <0.0 0 1 <0.0 0 1 <0.0 0 1

0r 9 *P 0%/t) <0.0 2 <0.0 2 <0.0 2 <0.0 2 1

PCB <0.1 0.2 0.3 0.6 0.0 0 3

-8 2-



$5-14 k ix - ^ ( D-y') -x)

D3 1 D35 D42 D49 D61
me* f

m s^~~~i 9 0° 1 1 0° 1 5 0° 1 80° 2 0 0°

pH 6.71 L 6.24 5.52 % 532' , 5432 < 5.8 ~~ 8.6

ss C^%/6) 1 30 60 1 88 763 3 00 200 ( B RSFP^ 150)

COD C e/4) 3.1 3.9 2.6 69 1 0 1 160 ( « 120)

60 D (?/£) 4.3 3.2 78 1 0 0 1 1 7 160 ( » 120)

1 8 1 9 3 356 585 82 1 5

^ Jt *(°cj 1.00(24) 0.9 9(20) 1.02(25) 1.04(25) 1.07(23) —

y^y-^M (^2) 774 8 1 7 5 18 2560 37 10 5

F (// ) 0.3 0.3 0.2 0.3 0.2 1 5

T- ON C • ) <0.0 0 4 <0.0 0 4 0.0 2 8 0.0 2 3 0.0 1 5 1

Cd C ” ) <0.0 1 <0.0 1 <0.0 1 <0.0 1 <0.0 1 0.1 0

P b ( // ) <0.0 5 <0.0 5 0.1 0 0.1 4 0.1 4 1

0 u C * ) 0.1 9 0.1 2 0.1 6 0.2 5 0.3 4 3

Z n (// ) 3.6 5 7 1 0 4 2.0 1 0 1 1 7.7 5

M n C • ) 0.1 6 0.2 0 0.4 1 0.7 8 0.2 3 1 0

Or (11) C n ) <0.0 5 <0.0 5 <0.0 5 <0.0 5 <0.0 5 0.5

A s (// ) <0.0 1 0.0 1 0.0 4 0.0 6 0.0 8 0.5

T- Or (' ) <0.0 5 <0.0 5 <0.0 5 <0.0 5 <0.0 5 2

T-Hg C » ) <0.0005 <0.0005 <0.0005 <0.0005 <0.0005

Org-P (« ) <0.0 5 <0.0 5 <0.0 5 <0.0 5 <0.0 5 1

P 0 B CO <0.1 0.6 2.9 2.2 4.4 0.0 0 3 .

Fe (' ) 21.5 8.8 0 2 0.0 70 2 2.5 1 0

* #!&&&
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;m<DV-y 7" v 7

& T r 7 X # # # a i x C" X v/ -v — (

1C -V-X7"
V xf
t

PPM -9-X7'
1J y

g my

#E -#

V - n2 02 h2o C02 CO H2 Ci P P . P c6 p p P P CeH, C7 Hg CgHn H2S
m. h2o r_ p p p,„ C* c,. Cl5 c ple pin C o„ Cot

m£ l2 W u5 . *W L 8 L9 wo
g

v9 u 10 Wl '-'12 v 14 v 16 v 17 v 19 v- 20 '-'21

CS-9 9 0 7 0 26370 99.11 0.11 0.5 4 0.0 3 <50 <50 <5 <3 <1 <1 34
0.2
# 7 <1 9 57 276 123 8 15 6.0 05 3.6 70 2 2.0 285 301 1290 61.9 207 116 20.9 45 5 21.5 3.7 7 <0.05 1.2 4 —

CS-11 1 1 0 90 27010 97.8 3 0.13 0.5 4 0.05 <50 <50 <5 <3 <1 <1 38
1.4 4

133 <1 1 33 267 102 7 7 8.19 7 4.0 3 2 9 3.5 527 467 2010 163 404 330 69.6 185 6 6.3 11.0 0.12 4.0 2 09 5

CS - 15 1 5 0 1 25 27860 99.20 0.12 0.56 0.11 <50 <50 <5 <3 <1 <1 52 58 17 <1 17 81 296 110 28 44 13.343 3.00 2 236 1040 907 4 66 0 573 1180 1080 243 87.0 270 44.5 0.57 18.6 15 7

CS -20 200 1 80 2780Q 99.05 0.15 0.56 0.23 <50 <50 <5 <3 <1 <1 45 418 11 <1 22 247 269 111 13 130 15.424 2.915 115 682 706 4660 715 1770 2150 611 234 787 164 35 6 9 7.1 14.7

CS-9 90 7 0 24210 99.39 0.16 0.4 2 0.03 <50 <5 0 <5 <3 <1 <1 <1 120 3 <1 1 32 14 18 10 5 4.36 3 3.5 94 1.2 0 9.89 2 9.3 305 26 343 25.6 5.5 6 2.17 114.2 4.8 3 0.10 1.7 2 —

CS -11 110 9 0 26260 99.2 8 0.17 0.4 9 0.0 4 <50 <5 0 <5 <3 <1 <1 <1 165 6 <1 4 5 1 12 12 4 12 5.404 4.614 <0.05 4.6 6 19.0 254 2 2.6 394 3 7.6 9.99 4.66 28.1 8.0 8 0.74 6.4 0 0.08

CS -15 150 1 2 5 26640 99.10 0.2 2 0.58 0.08 <50 <5 0 <5 <3 <1 <1 <1 139 3 <1 3 63 10 10 3 13 7.4 43 5.7 21 0.8 4 16.1 4 3.0 494 44.6 831 83.1 29.9 17.0 9 4.8 3 55 0.9 9 2 8.5 3.00

CS -20 200 18 0 23880 9 89 0 0.30 0.55. 0.2 4 <50 <5 0 <5 <3 <1 <1 <1 24 6 <1 11 255 8 8 4 58 9.5 2 2 4307 1.07 18.9 5 3.3 871 135 2060 295 120 81.4 471 261 29.6 27 0 47.6

A -9 90 7 0 27640 99.30 0.18 0.50
<10
PPM

<50 <5 0 <5 <3 <1 <1 <1 305 <1 <1 1 40 5 5 2 2 0.3 61 0.0 61 <0.05 0.0 5 3.8 3 828 63 5 176 11.0 2.3 7 0.7 3 63 4 2.2 3 0.15 1.5 0 —

A -11 110 9 0 27370 98.9 9 0.20 0.80
<10
PPM

<50 <50 <5 <3 <1 <1 <1 7 <1 <1 1 33 5 5 1 2 0.6 8 5 0.06 3 <0.05 3.18 13.4 186 22.6 336 263 69 4 2.9 2 17.0 45 5 0.10 2.71 —

A —15 150 12 5 25690 99.2 0 0.19 0.5 9
<10
PPM <50 <5 0 <5 <3 <1 <1 <1 213 <1 <1 1 29 7 7 2 2 1.08 6 0.06 0 <00 5 8.6 6 23.1 286 48.6 511 45.9 179 8.29 48.5 16.1 0.37 11.3 094

A -20 200 180 25460 99.32 0.11 0.56
80

PPM <50 <5 0 <5 <3 <1 <1 <1 630 <1 <1 3 84 18 25 13 27 2.6 75 0.0 56 1.3 2 18.8 37.1 491 75.5 1200 180 6 7.3 4 53 253 1 14 43 0 114 16.4

S -9 9 0 70 26680 99.31 0.11 0.57
16

PPM
<50 <5 0 <5 <3 <1 <1 44 198 8 <1 4 49 200 60 14 4 1.4 7 7 0.050 21.4 214 192 755 42.7 113 61.0 11.1 22 7 115 1.59 <0.05 0.7 2 —

S -11 1 1 0 90 32520 992 0 0.2 3 0.56
16

PPM
<50 <5 0 <5 <3 <1 <1 69 26 7 <1 9 52 268 88 7 4 3.29 9 0.09 9 107 494 37 9. 1610 100 265 174 31.4 6.94 2 6 5 4.14 0.05 1.21 —

S -15 1 5 0 125 26670 99.48 0.09 0.42
19

PPM
<50 <50 <5 <3 <1 <1 56 80 7 <1 6 52 369 132 24 21 8.6 52 0.05 5 138 814 785 3960 488 994 906 202 64.4 197 33-8 0.27 9.8 9 037

| S -20 20 0 180 25 140 9 7.51 0.11 0.59 39
PPM

<50 <5 0 <5 <3 <1 <1 51
1.7 8

<1 <1 18 86 329 129 14 73 10.303 0.071 194 892 878 4850 636 1240 997 217 69.7 209 33.5 0.68 131 1.18

-110



6 - 4 ffi S ^ W &-> i Z>* h

\m!& AIR h2o C 02 CO h2 c, c2 C3 C4 C5 C6 C7 Cg c9 C10 Cn Cl2 Cl3 CU Cl5 Cl6 C17 Clg Cl9 C2o C21 C 22 CgHg C7H, C gHu

[56] PPM

CS-9 9 7.20 2.7 5 0.3 0 0.29 0.29 0.0 3 0.0 2 <0.01 <0.01 0.19
0.0012

$ 0.0 4 <0.01 12.85 156.33 149.76 587.60 261.04 81.0 2 42.4 3 71.7 6 1.51 6.5 7 1.09 0.0 2 05 1 — 1.5 5 0.69 0.05

CS- 1 1 9 6.7 5 3.17 0.0 5 0.2 9 0.29 0.0 3 0.0 2 <0.01 <0.01 0.22
0.0080

<%> 0.76 <0.01 4 0.40 290.19 243.36 963.04 7 2.18 164.32 126.88 2 5.06 6.2 7 215 2 35 4 00 3 1.10 0.01 1.4 8 05 8 0.04

CS-1 5 9 7.5 6 2.31 0.11 0.30 0.30 0.0 3 0.02 <0.01 <0.01 0.31 0.35 0.10 <0.01 138.13 510.49 434.42 2043.70 232.1 9 444.05 379.85 80.2 9 26.9 6 79.29 1.2 4 0.15 4.6 9 0.4 0 1.7 9 0.6 6 0.17

CS-2 0 9 7.4 7 2.2 8 0.2 3 0.31 0.31 0.0 3 0.0 2 <0.01 <0.01 02 8 259 0.06 <0.01 6 9.88 374.43 351.00 2035.0 301.40 694.10 792.00 209.00 75.7 9 239.80 47.60 1.01 2 3.30 3.6 8 1.6 6 0.68 0.08

CA-9 97.06 ; 2.89 0.0 3 0.31 0.31 0.0 3 0.0 2 <0.01 <0.01 <0.01 0.75 0.0 2 <0.01 0.87 6.50 17.21 163.17 12.8 7 157.62 11.0 5 2.28 0.8 3 5.11 15 4 0.03 0.5 3 — 0.0 9 0.11 0.0 6

CA-11 96.2 0 3.7 4 0.0 4 0.29 0.29 0.0 3 0.0 2 <0.01 <0.01 <0.01 0.97 0.0 4 <0.01 0.0 8 3.03 11.12 136.09 11.2 3 181.44 16.2 0 4.0 5 1.17 10.11 2.7 5 02 4 1.9 8 00 2 OX) 7 0.07 0.03

CA-15 94.80 5.10 OX) 8 0.2 7 0.27 0.0 3 0.0 2 <0.01 <0.01 <0.01 0.7 7 0.0 2 <0.01 0.6 7 115 8 2 7.41 289.80 2 4.2 8 418.95 38.9 6 13.16 7.04 37.08 13.16 0.3 5 9.5 8 0.9 6 0.0 5 0.0 5 0.02

C A-2 0 94.96 4.7 6 0.2 4 0.29 0.29 0.0 3 0.0 2 <0.01 <0.01 <0.01 0.14 0.04 <0.01 1.0 7 17.3 4 4 0.9 3 614.46 8 60 1 1242.60 166.44 63.6 1 40.7 0 222.30 116.28 125 4 109.21 18.3 5 0.05 00 5 OX) 2

A-9 9 9.4 8 0.50
<10
PPM

0.3 3 0.3 3 0.0 3 0.0 2 <0.01 <0.01 <0.01 2.05 <0.01 <0.01 <0.01 026 00 5 1.06 0.08 19 3 0.11 0.0 2 <0.01 0.06 0.0 2 <0.01 0.0 1 — 0.0 3 0.03 0.01

A-l 1 9 9.18 0.8 0
<10
PPM

05 3 0.3 3 0.03 0.0 2 <0.01 <0.01 <0.01 0.05 <0.01 <0.01 <0.01 0.30 0.2 6 359 0.38 5.30 0.39 <0.01 <0.01 0.21 <0.01 <0.01 0.0 3 — 0.03 0.0 3 <0.01

A-l 5 99.39 05 9
<10
PPM

0.35 05 5 0.0 3 0.0 2 <0.01 <0.01 <0.01 1.46 <0.01 <0.01 <0.01 0.48 0.68 75 7 1.20 11.7 6 1.00 0.3 4 0.16 0.87 0.27 <0.01 0.1 7 <0.01 0.05 0.05 0.01

A— 2 0 99.4 2 05 6
80

PPM
0.36 056 0.0 3 0.0 2 <0.01 <0.01 <0.01 4.4 7 <0.01 <0.01 0.11 1.75 2.07 2 5.06 35 6 5 2.8 1 75 9 2.5 9 155 8.72 3.68 0.14 35 4 0.4 6 0.13 0.18 0.0 9

S — 9 99.41 05 7
16

PPM
0.33 0.33 0.0 3 0.0 2 <0.01 <0.01 0.2 9 1.31 0.05 <0.01 1.6 0 14.6 6 11.71 4 2.32 2.21 5.4 4 2.7 4 0.47 0.09 0.4 3 0.07 <0.01 0.02 — 1.3 2 0.3 9 0.09

S-l 1 99.4 2 0.56
16

PPM
0.28 028 0.0 3 0.02 <0.01 <0.01 0.39 0.15 0.04 <0.01 5.45 22.8 2 15.8 2 6 15 8 35 3 8.6 9 5.34 0.90 0.19 0.68 0.10 <0.01 0.0 3 — 1.51 0.50 0.05

s-l 5 99.5 5
i

0.4 3
19

PPM
0.33 0.3 3 0.0 3 0.0 2 <0.01 <0.01 057 0.5 3 0.05 <0.01 25.41 13450 11752 546.00 61.9 8 11752 100.00 20.90 62 3 18.20 2.9 6 0.0 2 0.7 6 12.27 2.4 5 0.88 0.16

S-20 99.34 0.61
39

PPM
0.3 5 055 0.0 3 0.0 2 <0.01 <0.01 0.3 5

0011
<0.01 <0.01 4 8.7 2 201.40 180,36 816.92 110.16 200.88 151.20 307 8 9.29 2655 4.01 0.08 1.07 0.1 2 2.2 5 0.8 7 0.0 9

.4

— 1 1 1—
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5 ft iSMK © ii * itaj® © Jt n IS*

AIR HgO C 02 C 0 h2 Ci C2 c3 C4 C5 c6 c7 C8 c9 Cio c6h6 C,H, c8h„

% PPM

C S- 9 9 9.4 1 0.5 4 0.0 3 0.3 5 0.3 5 0.0 3 0.0 2 <0.0 1 <0.0 1 0.2 4 <0.0 1 0.0 5 <0.0 1 0.0 6 0.0 4 1.91 0.8 5 0.0 6

C S~ 1 1 9 9.39 0.5 4 0.0 5 0.3 4 0.3 4 0.0 3 0.0 2 <0.0 1 <0.0 1 0.2 6
0.0 10 

%
0.9 2 <0.0 1 <0.0 1 0.2 3 1.8 6 0.70 7 0.0 5

cs-l 5 9 9.3 2 0.5 6 0.1 1 0.3 5 0.3 5 0.0 4 0.0 2 <0.0 1 <0.0 1 0.3 7 0.4 1 0.12 <0.0 1 0.1 2 0.5 8 2.1 1 0.7 8 0.2 0

C s- 2 0 9 9.2 0 0.5 6 0.2 3 0.3 6 0.3 6 0.0 4 0.0 2 <0.0 1 <0.0 1 0.3 3 3.0 7 0.0 8 <0.0 1 0.16 1.8 2 1.9 7 0.8 1 0.10

C A ~ 9 9 9.5 4 0.4 2 0.0 3 0.3 7 0.3 7 0.0 4 0.0 2 <0.0 1 <0.0 1 <0.0 1 0.8 9 0.0 2 <0.0 1 <0.0 1 0.2 3 0.10 0.1 3 0.0 7

C A- 1 1 99.46 0.4 9 0.0 4 0.3 6 0.3 6 0.0 4 0.0 2 <0.0 1 <0.0 1 <0.0 1 1.19 0.0 4 <0.0 1 0.0 3 0.3 7 0.0 9 0.0 9 0.0 3

CA-15 9 9.3 0 0.5 8 0.0 8 0.3 5 0.3 5 0.0 3 0.0 2 <0.0 1 <0.0 1 <0.0 1 0.9 7 0.0 2 <0.0 1 0.0 2 0.4 4 0.0 7 0.0 7 0.0 2

C A- 2 0 9 9.2 0 0.5 5 0.2 4 0.3 8 0.3 8 0.0 4 0.0 2 <0.0 1 <0.0 1 <0.0 1 0.18 0.0 5 <0.0 1 0.0 8 1.94 0.0 6 0.0 6 0.0 3

A — 9 9 9.4 9 0.5 0
<10
PPM

0.3 3 0.3 3 0.0 3 0.0 2 <0.0 1 <0.0 1 <0.0 1 2.0 5 <0.0 1 <0.0 1 <0.0 1 0.2 7 0.0 3 0.0 3 0.0 1

A- 1 1 9 9.19 0.8 0
<10
PPM

0.3 4 0.3 4 0.0 3 0.0 2 <0.0 1 <0.01 <0.0 1 0.0 5 <0.01 <0.0 1 <0.0 1 0.2 3 0.0 3 0.0 3 <0.01

A- 1 5 9 9.4 0 0.5 9
<1 0 
PPM

0.3 5 0.3 5 0.0 3 0.0 2 <0.0 1 <0.0 1 <0.0 1 1.4 9 <0.0 1 <0.0 1 <0.0 1 0.2 0 0.0 5 0.0 5 0.0 1

0C
M1

<ti 9 9.4 3 0.5 6
80

PPM
0.3 6 0.3 6 0.0 4 0.0 2 <0.0 1 <0.0 1 <0.0 1 4.5 4 <0.0 1 <0.0 1 0.0 2 0.6 0 0.1 3 0.18 0.0 9

8-9 9 9.4 2 0.5 7
16

PPM
0.3 3 0.3 3 0.0 3 0.0 2 <0.0 1 <0.0 1 0.3 0 1.3 3 0.0 5 <0.0 1 0.0 3 0.3 3 1.3 4 0.4 0 0.0 9

S~ 1 1 9 9.4 3 0.5 6
16

PPM
0.2 8 0.2 8 0.0 3 0.0 2 <0.0 1 <0.01 Q.4 0 0.15 0.0 4 <0.0 1 0.0 5 0.3 0 1.5 4 0.5 0 0.0 4

8-15 9 9.5 7 0.4 2
19

PPM
0.3 4 0.3 4 0.0 3 0.0 2 <0.0 1 <0.01 0.3 9 0.5 5 0.0 5 <0.0 1 0.0 4 0.3 6 2.5 6 0.9 2 0.1 7

8-2 0 9 9.3 8 0.5 9
39

PPM
0.3 6 0.3 6 0.0 4 0.0 2 <0.0 1 <0.0 1 0.3 7

0.0 13
_____ 3L_ <0.0 1 <0.0 1 0.1 3 0.6 2 2.3 7 0.9 3 0.10
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f}$ 1 X 7 - ns R 8 f - - ^ s

K m ^ C 1 C 2 0 5 C 8 G 9 C 1 0 G 2 2

e ^ m B G/y i/y-y - h# B C/y l/yf y - h # B G/y i/y-y - hfA B G/y ixy-y - h# B G/y i/y-y - h# B G/y ixy-y - h# B c /y i/y- y - h #

3$ A i(M,) 1 5 7 ,15 7 1 57 2 07 ' 1 7 7 156 6 8.5

5 # ( c )« #§1(^,4,) 20 20 20 50 5 0 50 1 0

@ SJ ( S )# j£ *(><?/(,) 1 1 4 1 1 4 1 1 4 1 7 1 1 4 1 1 20 5 7

5e

is

tt m. ( F )# e #(k,/(,) 5 5 5 6 6 6 1.5

1 5/8 3/2 15/83/2 1 5/8 3/2 1 4/85/5 1 7/8 0/3 1 9/7 7/4 1 5/8 3/2
I

a

e

f

i

y

« ft % U * ( C ) 5 0 5 1. 6 2 7. 5 2 4 2 5.6 2 5 1 9 7
m sj u $ c x: ) 1 5 0 1 5 0 1 5 0 1 5 0 15 0 i 1 5 0 1 5 0

^ 7 1) - ® * ( C ) 9 0 1 1 0 1 5 0 9 0 9 0 ! 9 0 9 0

# m a $ c c ) 4 1 4 2 4 2 4 4 4 0 4 0 5 5

i*t-/BI ( C ) '

w sits $£$*/$$* ( c )
S * ( * ) -

k i/ x a c Mi)
9

#

fit

««■£*#(*)
i i

2 9.2 1 j
• i

5 0.5 1 il |
1 i

5 0.5 i i 5 0.8 I I | 1
5 0.8 . i

j : i
5 0.8 J j

• i
2 92 ' •______ i_______ i______ _

5 K * $ ( * ) 2 1. 1 I » 21.8 i j 22.9 1 j
i t

19.5 i i 2 2.2 i i 2 6.6 i ! 2 5.7 : j

*7 v - *#■($<) 0.6 5i i 0.4 51 1
--------- 1--------- 1-----------

0.5 01 j 1.60; j 0.6 5 i ;
1 1

0.8 5i i1 1 0.6 7 ! ;
^ ? y -%% (900ccP) 9 3 1 1 1 0 *

----------i---------- 1---------
100 i 1 50 ; 140 j 15 0 i 76 j 76 < 68 1 80 1 258 j ; i .

260 ; i

X? 'J -Jtl (900 11 2* |
---------- ,——{---------

1. 1 0 1 I 1.15, I 1.0 71 ! 1.1 3 | !
1

* i
1.1 5 ! •

• *
1.1 1 i i

a 7 y -Jt*U9oo
1 1 ---------- 1---------- 1--------- ! i i : 1 1
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* i
I i i ....i : j

i i
! i i j : ■

ft
&

ee

200 y y y^feTF
--------- 4---------1-----------
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1 *
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791 i I 7 7.7 ; !

! i
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----------1--------- 1----------

05 ! i 01 . j
os j I 0.7 i | 0.6 J 1 <0.1 • :

48— 100 y y y ^ 3.6 ; ;
1 1

51 j :
^r! i

5.2 j ! 65 • \■ ■ 4.7 ; ; o.8 ; i
100 — 200 y y y^- 1 2.5 ! I 11.5 1 ! i §

10.2 i J
! i

1 5.2 i l 1 5.1 j ? 1 4.1 • ! nz * •0.5 i «
200-250 y y y =*■ 4.1 ! ! 4.6 | ! 43 I ; 52 l J 4.5 ! | 4.0 S ! 2.7 ! i

250 — 550 y y y=^ 8.6 ! j 1 I
83 | i 86 j ! ---------- ,-----------1-----------

10.6 | 1 9 7 I | ~rr .; 7.9 ! '

350 y y y^-felT 7 0.9 i j r i 747 I ! ---------- 1------------ 1----------
655 i Ji 1 6 5.7 ; ; ■—i

6 7.3 • ! 855 ! ; 

fit #
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# * 2 ^ 7 v - mmn&tT-sm

m m w ^ C 5 0 C 5 1 C 5 2 C 5 5 C 5 4 C 5 5 C 5 6

c et / m m B o/^ yy-y - h 76 B c/^yy-y - h# B c/^ yy-y - h# B c/^ yy-y - h # B c/^yy-y - h # BC/f yy-y - h#

%

fs

$ f= #( ^ > 1 0 5 .10 5 1 0 5 1 5 7 ' 6 8.5 10 5 2 0 7

5K ( c )« *&*(^) 2 0 2 0 2 0 2 0 1 0 2 0 5 0

m SJ ( 8 )# *& Kky^) 8 0 80 8 0 1 1 4 5 7 8 0 17 1

#; s ( F )# m #(k»/k) 5 5 5 5 l 5 . 5 6

C/S/F it 1 9/7 8/5 1 9/7 8/5 1 9/7 8/5 1 5/8 5/2 15/85/2 1 9/7 8/5 1 4/8 5/5

■ :

il

E

T

1

*

fi£ » & a E ( C ) 5 0 5 1 5 0 5 1. 8 25________________________ i__ 5 1 2 4

# a»j a « ( c ) 1 5 0 1 5 0 1 5 0 1 5 0 15 0 I 1 5 0 1 5 0

x 7 v - a $ ( c ) 7 0 9 0 1 0 0 1 0 0 110 1 1 0 1 1 4

# a a * c c ) 5 9 5 9 4 0 4 2 5 4.8 4 1 4 5

i^t-^as(c) ! *

^saE£$*/a$* ( c )

a % ( # ) -

K y y # ( kyfi ) X

0

#

f®

##*%*&(*)
-------------,----------- 1-------------
2 5.9 1 i

i l
2 5.9 ; ; 2 8.5 ! ! 2 9.2 ! | 1 1

29.2 i i 2 8.5 ; j
i i

2 6.9 ; •

5 ^ a e c * ) 2 8.0 1 i 2 8.2 j [ 2 9.7 l * 21.7 ! I l l
2 5.9 i i 5 0.2 ! J 17.9 : *

■ 1
a 7 y - * » ( * ) 2.1 6 i i 1.0 8 j 1 0.7 51 !

1 •
i j

0.5 7 j j
0.5 s| j 1 1

0.4 8 i i
« i

0.4 51 !
» |

* 7 y -toE (9oc)(cp) 5 1 0 1 J 580 l •
i 1 20 ; !

• 1 4 2 0 ! |
i

7 20 ! ! 54 1 40 ;
________i _____

.* 7 y - itt (9oc) 1. 1 6 * !
------------ ,------------ 1-------------

1.1 5« l
1 x1.1 6 1 •

1 1
1.15, i

J *
1.1 5! 1 1. 1 6 I 1 1. 0 7 J I
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#
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4 8 ~ 10 0 y y y a. 2.8 I J
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1 6.7 i .

200—2 50 y y y
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5.6 I i
41 1 5.6 | | ' ------------ 1------- 1--------

4.9 i J -i5i r 5.1 ; ! 5.5 ; 5

250 -550 y yyzi 8.6 ! • 1 t
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fin *7 ') - mmu&T.-

u m s *§■ C 3 7 0 3 8 0 3 9 0 4 0 0 4 3 0 4 4 0 4 5

fi r / i l B c/^i/y-y - h# B o/^i/y-y - h# B c/;f i/y-y - h# B c/jfi/y-y - h# BO/^i/y-y- h# B o/^i/y-y - h# B o/^i/y-y - h#

5c

fs
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5e

f@

33 A i(W) 1 5 0 .2 1 4 2 2 4 1 7 6 ' 118 12 4 1 5 2

s m cc )m *&#(^) 2 0 2 0 2 0 3 0 2 0 2 0 2 0

*§ m (s)«#§• fl(k#,i) 1 2 6 1 9 0 2 0 0 1 4 1 9 4 1 0 0 1 28
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